## **ORDER #006307**



Wife of the Party Inc. 318 S Date Ave Alhambra, CA 91803

06/03/2025 11:00 AM | Install - 11am - 3pm 06/04/2025 08:00 AM | Install - 8am - 8pm 06/05/2025 12:00 PM | Event | TBD Time 06/06/2025 06:00 PM | Strike - 6pm - 12am PO: WAYMAKER Men's Summit - 2025

**Shipping Address:** 

Beehive: 1000 E 60th St, Los Angeles,

CA 90001

Order Date: April 21, 2025 Due Date: Upon Receipt

Description		Qtty	Price		Total
BOH Boneyard					
	Hedge Panel, 4' X 8'	10	\$150.00	Т	\$1,500.00
			Total BOH Boney	ard	\$1,500.00
General					
	Los Angeles Bar, Black - 8ft	2	\$0.00	Т	\$0.00
	Shelving Display - Swag Shop Color: TBD	1	\$4,650.00	Т	\$4,650.00
			Total General		\$4,650.00
Priority Check-In	1				
	Los Angeles Bar, White - 6ft	1	\$275.00	Т	\$275.00
	Decal Branding	1	\$75.00	Т	\$75.00
	Ghost Chair Bar Stool With Cushion	2	\$22.00	Т	\$44.00
		To	Total Priority Check-In		\$394.00
SoLA Beehive E	ntrance (After Registration)				
	Truss Structure - 20' x 40' x 12'h	1	\$2,040.00	Т	\$2,040.00
	Truss Cladding   Color: Black Approx - 20' Linear	2	\$600.00	T	\$1,200.00
	Concrete Base -	6	\$95.00	Т	\$570.00
	Ceiling Stretch Fabric - 20' x 40'   Black	1	\$1,800.00	Т	\$1,800.00
	Side Walls - Solid Fabric   40' x 11'h Color: Black   Matching Top	2	\$720.00	Т	\$1,440.00
	Carpet - 20' x 40'	1	\$1,720.00	Т	\$1,720.00

Description		Qtty	Price		Total
	Los Angeles Bar, White - 8ft For Check-In   Branded	4	\$350.00	T	\$1,400.00
	Los Angeles Bar, White - 6ft Branded	1	\$275.00	T	\$275.00
	Decal Bars	5	\$75.00	T	\$375.00
	Ghost Chair Bar Stool (2) Priority Check - In	14	\$22.00	T	\$308.00
	Black Cushion   Ghost Barstool	14	\$2.00	Т	\$28.00
	Hedge Panel, 4' X 8' To Cover A/C	13	\$150.00	Т	\$1,950.00
	Total SoLA Bee	ehive Entrance	(After Registrati	ion)	\$13,106.00
Entrance Cour	tyard				
	Decal   Branding	6	\$45.00	Т	\$270.00
	Sofia 360° Bar Semi Circle   Color: Neon Yellow	1	\$1,250.00	T	\$1,250.00
		Tota	Entrance Courty	ard (	\$1,520.00
Toyota Car Are	ea				
	Carpet - Black - 20' x 30' Pending Size Confirmation	1	\$1,290.00	Т	\$1,290.00
	Carson Cocktail Table, ** Black **  Black	1	\$110.00	Т	\$110.00
		Ţ	otal Toyota Car A	rea	\$1,400.00
The Depot (Ma	ain Stage)				
	Wilshire Sofa - Black 8ft	10	\$350.00	Т	\$3,500.00
	Ottoman - Black Velvet	40	\$55.00	Т	\$2,200.00
	Nixon Coffee Table - Black	10	\$125.00	Т	\$1,250.00
	Stage Front   Cladding + Vinyl Wrap   24' x 30" h Waymaker Logo   Day 1	1	\$575.00	Т	\$575.00
	Stage Front   Cladding + Vinyl Wrap   24' x 30"h Toyota Logo   Day 2	1	\$575.00	Т	\$575.00
	Club Chair - Black For Stage	4	\$150.00	Т	\$600.00

Description		Qtty	Price		Total
	Carpet - Black - 16' x 29' Stage Cover   Top + Sides Only	1	\$997.60	Т	\$997.60
	Carpet - Black - 3216 sf In front of stage	1	\$6,914.40	Т	\$6,914.40
	Carpeted Double Step - 6' x 30"h	2	\$225.00	Т	\$450.00
		Total The	Depot (Main Sta	\$17,062.00	
The Depot					
	Floor Graphic - 24' x 6' In front of Bodega   * High Traffic *	1	\$1,152.00	Т	\$1,152.00
	Panel Moulding Wall - 4' x 8'  Dimm: 12' x 8'h   With Sconces   ** Painted **	3	\$475.00	Т	\$1,425.00
	Bar - 8ft Black Man Flower Build   ** Painted **	1	\$475.00	Т	\$475.00
			Total The De	pot	\$3,052.00
Courtyard					
	Umbrella - Black   w. Base	30	\$35.00	Т	\$1,050.00
	Bali Dj Booth - Natural - 6ft	1	\$300.00	Т	\$300.00
			Total Courtyard		\$1,350.00
Tech Room					
	Draping - Black   17' x 13'h	1	\$255.00	Т	\$255.00
	Draping - Black   73' x 13'h Left Side Wall   (1) Pull Back for Kitchen Area	1	\$1,095.00	Т	\$1,095.00
	Draping - Black   45' x 13'h "L" Shape - Right Entrance   (1) Pull Back Opening	1	\$675.00	Т	\$675.00
	Draping - Black   45' x 13'h "L" Shape - Tech Room 1	1	\$675.00	Т	\$675.00
	Draping - Black   30' x 13'h "L" Shape - Tech Room 2	1	\$450.00	Т	\$450.00
			Total Tech Room		\$3,150.00
The Radian					
	Check-In Desk   6ft Round Bar Round Preferred   Semi Circle	2	\$350.00	Т	\$700.00

Description		Qtty	Price		Total
	Decking - 8' x 24' x 8"h Fit 4 stattions	1	\$750.00	Т	\$750.00
	Black Carpet - Stage Cover	1	\$559.00	Т	\$559.00
	Draping - Navy Blue   35'   Double Sided W. Tie back   70' Draping Total	1	\$1,050.00	Т	\$1,050.00
	Draping - Blue   80' x 13'h (3) 8' x 8' Private Med Rooms   Color: Gilette Blue	1	\$1,200.00	Т	\$1,200.00
			Total The Radian		\$4,259.00
Services					
	Trucking Fee	5	\$375.00		\$1,875.00
	Install Crew 06/03	10	\$280.00		\$2,800.00
	Install Crew 06/04	10	\$560.00		\$5,600.00
	Swap Out Stage Front - Toyota Day 2	2	\$150.00		\$300.00
	Strike Crew	8	\$280.00		\$2,240.00
	1.5% W.C. Fee	1	\$1,098.27		\$1,098.27
Notes			Total Produc	ets:	\$51,443.00
		Total La	Total Labor/Services/Misc:		\$13,913.27
			Taxe	es:	\$4,887.09
			Discoun		(\$0.00)
			To		\$70,243.36
			Paymen		(\$0.00)
			Balan	ce:	\$70,243.36